Geometry Worksheet Name 1/4PM
7.7 Solving Right Triangles

Approximate the measure of £A to the nearest degree.
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Solve the r'lgh1' triangle. Round decimal answers to the nearest tenth.
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7. The angle of depression from the tee box to the green is 10°°on a par 3, 185 yard hole. How
much higher is the tee box than the green? Round to the nearest yard.
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8. Find the distance across the suspension bridge. (rounded to the nearest 10™)
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9. You are in a hot air balloon that is 600 feet above the ground where you can see 2 people.

' A) If the angle of depression from your line of sight to the person at Bis 30°, how far

is the person from the point on the ground below the hot air balloon?
{exact and rounded to the nearest 0™

. [W1-Y m 56& = Ll;::)
(o™ 23 OR
OOl B

W = Loz
Tan R
Y= {033. L

1039.2 Fe

= \o%. 2

B) If the angle of depression from your line of sight to the person at C’is 20°, how far

is the person from the point on the ground below the hot air balloon?
{Rounded to the nearest 10™)
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C) How far apart are the two people?
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